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CERTIFICATE IN PRIMARY TEACHING (CPT) 

Module 1 of DPE 

Term-End Examination, 2019 

ES-202 :TEACHING OF MATHEMATICS 

Time : 3 Hours] 	 [Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry equal 

weightage. 

1. 	Answer the following question in about 600 words : 

Discuss various informal measurements of length and 

weight. How will you introduce children the concept of 

money ? Suggest an activity. 

OR 

Differentiate the following concepts 

(a) Proper and improper fraction 

(b) Like and unlike fraction 

Discuss uses of fraction in daily life of primary children. 
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2. 	Answer the following question in about 600 words : 

Why lesson plan is important in teaching ? Describe the 

steps involved in Herbertian method of lesson planning 

with suitable examples. 

OR 

Distinguish between achievement test and diagnostic 

testing. Develop a remedial teaching material for learning 

the concept 'subtraction of numbers'. 

3. 	Write short notes on any Four of the questions in about 

150 words each : 

(a) Teaching of 'Place value' 

(b) Continuous and comprehensive evaluation 

(c) Play way method 

(d) Formative and Summative evaluation. 

(e) Identification of fast learners. 

(f) Importance of teaching materials. 
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4. 	Answer the following question in about 600 words : 

Discuss the basic principles that you would consider 

while planning instruction for children of your class. 

Which method would you prefer to introduce a new topic 

in your class ? Support your preference citing examples. 

x 
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